TH4503 A 298 (KER)

R RENFEHIS (A15) 2B B #H

B EEHME: 1832 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hiike | BEME) | $EE) | REAE) | S@EE) | $EED | =iEFE)
130100 |[7ZLNC A % 9,245
mE 4,000 400 3,600 10 1,296 972 1,296 648
G 3,950 750 3,200 10 1,080 1,026 1,242 810
130340 [/ £ICA LA 3 9,550
32 9,550 3,000 6,550 10 1,350 1,512 713
130400 [Z (S5 3 1,874
LS 1,860 0 1,860 10 - - - 2,160 1,080
BE 10 0 10 10 1,004
130500 |f=[TD ¥ 488
mE 196 16 180 [} 4,320 3. 780 4,860 1,620
IR 160 40 120 4 4,536 2,484 4,968 3,888
130600 [NACA a3 865
il Ll 135 0 135 5 3,240 1,080
®me 730 0 730 5 - - - 5724 1,080
131100 [ 3¢ ¥ 18,445
EE 385 0 385 15 1,296 1,080
& 14,295 3,000 11,295 15 1,512 2,722 648
HEAR 1,080 945 135 15 1,782 1,404
131700 |Fv Y % 48,749
50 27,930 5,360 22,570 10 1,512 702 1,728 702
£E 19,309 5510 13,799 10 1,296 680 1,404 648
FFrL 1,510 0 1,510 10 1,350
131800 |[[(F5hAE % 1,923
EE 601 410 191 0.2 133 65 68 54
32 700 4 696 [] Z. 376 2,592 918
=i 450 0 450( 0.18 86 54
131910 [FH=F % 3,764
N 25 0 25[ 0.045 63 62
£E 112 4 109 05 302 302 265
i L 550 0 550 1 864 216
&Il 1,223 0 1,223 10 2,808 1,620
BHE 1,675 5 1,670 5 Z. 700 2,700 1,350
= 52 0 52 3 38
131950 |B & a3 4,279
BE 1,795 625 1,170 3 1,296 156 1,404 605
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TH4503 A 298 (KER)

R RENFEHIS (A15) 2B B #H

Frx ENFERHME 1832 b~V
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
BR 183 0 183 3 1,080 972
thE 30 0 30 3 864
133400 |LAR ¥ 10,089
E351 3,115 1,240 1,875 10 2,268 1,458 2,322 1,620
£E 5734 3,884 1,850 10 Z 160 1,296 2,160 1,404
®me 1,240 550 690 10 2,160 1,080 2,376 864
134100 | A/ ¥ 11,535
®me 3,480 400 3,080 5 1,512 1,296 1,836 864
IR 130 0 130 5 1,404 1,080
=40 750 650 100 5 1,512 1,080 1,242
= 1% 6,125 3,460 2,665 5 1,512 1,080 1,728 1,080
134200 |E R 3 1,320
—21—-S—5uK 1,320 0 1,320 10 - - - 1,458 1,404
134300 |AaF e 5,034
PN 48 0 48 4 1,836 1,404
®me 818 76 742 2 1,080 864 1,080 432
=40 3,168 1,083 2,085 0.27 124 86 124 86
= 575 47 529] 03 151 151 140
REAR 425 0 425] 03 97
134400 [r<k g 5,457
£E 1,819 152 1,667 4 1,296 1,188 1,512 648
i 3,585 336 3,249 [} 1, 620 1, 404 1,728 648
134500 [E—< > ¥ 5,564
= 900 90 810 0.15 76 81 65
= 15 4,604 1,531 3073[ 0.13 90 59 92 22
135100 [LNAVIF A 3 484
= 64 10 54 /] Z, 808 2,592 2,052
BRE 40 0 40 2 1,998 1,728
135200 | 3= % 128
EE 2 0 2 2 1,944
IR 126 16 110 /] Z, 160 1,512 2,376 864
135300 [E—X a3 706
FFRL 130 10 120 /] Z, 268 2,268 864
BRE 160 0 160 1 864 378
136100 [MAL & ¥ 21,040
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TH4503 A 298 (KER)

R RENFEHIS (A15) 2B B #H

Frx ESEfAsE: 1832 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
FIE 1,040 0 1,040 10 4212
BE 3,220 205 3,015 5 2. 484 2. 160 2,808 972
= 20 20 0 05 162
PN 4,400 0 4,400 5 1,944 864
136200 | 5% ¥ 3,010
dtiEE 100 0 100 10 1,706
BR 2,910 0 2,910 10 - - - 2,160 1,080
136210 [A—2 1> 3 7,450
dtiEE 4,840 0 4,840 10 1,382 842
BERS 2,610 360 2,250 10 3. 240 Z. 160 3,240 864
136300 | BB ¥ ¥ 900
iR 700 0 700 10 - - - 3,240 1,836
fE 200 0 200 10 1,728
136600 [f=F4=E 3 6,020
dtiEE 5,100 5,100 0 20 4,633
EE 570 570 0 10 3,996 1,728
138100 | LLM=1F % 2,848
EE 614 114 500/ 0.1 92 59 56
mE 1,448 35 1.413[ 0.1 119 173 59
138500 |[LHLE ‘a 2,410
£H 2,406 415 1,991 0.2 68 67 68 41
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TH4503 A 298 (KER)

R RENFEHIS (A15) 2B B #H

= ENFEHAE 319 k
(gL HEREFST)
fnfh fnfh EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
241320 | /\¥H fa 1,000
EIEIT 1,000 1,000 0 10 Z, 592 1. 944
241450 |;BR ¥ 1,407
FIEIT 1,407 0 1,407 10 - - - 4,104 2,700
241481 [T ak> % 4,669
FFrL 2,970 0 2,949 5 - - - 3,240 1,944
242320 (33 —ILk % 2,110
&5 2,110 370 1,740 10 4, 752 2. 808 5,940 2,160
242830 [ S\CYAC ¥ 8,640
F 8,640 4,630 4,000 10 5. 076 3. 240 4,860 2,484
246000 (V6T ¥ 10,685
EE 530 0 530 0.25 410 162
32 6 0 6] 03 378 367
=l 661 308 353] 03 540 486 540 486
& 1,704 678 1,026 027 410 194 475 173
B 1,165 905 260 0.24 356 194 346 194
& 3,267 589 2,678 0.25 378 270 432 173
e 3,108 1,025 2,083[ 025 356 270 356 184
= % 244 29 215 027 270 324 248
247100 |[7—JLR A @ 383
E4 0 366 196 170 8.5 16, 200 9,180 16,200 8,640
=il 17 0 17| 85 12,960
248300 [EEHh 9 LVvA % 3,010
=il 10 10 0 10 9,180
REAR 3,000 840 2,145 15 5. 400 Z 484 7,560 3,240




